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 $G>>6>4EF6> ?> M>E??G4F4F<< E>45D6<F E6545=<O ?> 557>?4E-
=>= D45>F5 < =44?564M5< >5D4M5=<< E ?D<5>D><. �=<<4F5?L=> <7G-
G<F5 $G>>6>4EF6> ?D5645 G5< <E?>?L7>64FL ?D<5>D. 

 �4DGL5=<5 <?< =55D56=>5 <E?>?=5=<5 D5>><5=44F<= $G>>-
6>4EF64 ?> M>E??G4F4F<< <>65F ?>6?5GL ?>?><>G ?D<5>D4 <?< ?D<-
G<=5=<5 6D544 74>D>6LN ?>?L7>64F5?O.

1. &5E=<>4 557>?4E=>EF<

" �5D54 =4G4?>< D45>FO G554<F5EL 6 <E?D46=>EF< ?D<5>D4. �E?< 
>>D?GE ?D<5>D4 ?>6D5645=, ?D<5>D D45>F45F =5>>DD5>F=> <?< 
=4 4<E??55 >FEGFEF6G5F <7>5D465=<5, ?D5>D4F<F5 <E?>?L7>64=<5 
< >5D4F<F5EL 6 E5D6<E=O= F5=FD RGK.

" �E?>?L7G=F5 ?D<5>D F>?L>> ?> =47=4G5=<N, 6 ?D>F<6=>< E?GG45 
557>?4E=>EFL M>E??G4F4F<< <>65F 5OFL =4DGL5=4.

" �5 >F>DO64=F5 >>D?GE ?D<5>D4, =5 ?OF4=F5EL D5<>=F<D>64FL <?< 
<>4<D<F<D>64FL ?D<5>D E4<>EF>OF5?L=>. $5<>=F ?D<5>D4 4>?-
65= ?D><76>4<FLEO F>?L>> >64?<D<F<D>64==O< E?5F<4?<EF>< 
E5D6<E=>7> F5=FD4 RGK.

" �O?>?=O=F5 6E5 >?5D4F<< E>7?4E=> FD55>64=<O< $G>>6>4EF64.
" �5?D46<?L=>5 6O?>?=5=<5 >?5D4F<< <>65F ?D<65EF< > FD46<5, 

?<5> ?>6D5645=<N ?D<5>D4.
" �5 ?D>6>4<F5 <7<5D5=<O =4 M?5>FD>F5?OE E =4?DO65=<5< E6OL5 

750 � ?5D5<5==>7> F>>4.
" �5 ?D>6>4<F5 <7<5D5=<O 6 7>DNG5= <?< 67DO6>>?4E=>= ED545. 

�N5>5 <E>D5=<5 <>65F ?D<65EF< > 67DO6G.
" �5 D45>F4=F5 E ?D<5>D>< =4 6?46=>= ?>65DE=>EF< <?< 6?46=O-

<< DG>4<<.
" �5 ?D<>4E4=F5EL > ?D>6>4OM<< GG4EF>44< <7<5D<F5?L=OE MG?>6 

?D< ?D>6545=<< <7<5D5=<=.
" �E?< <7<5D<F5?L=O5 MG?O >4E4NFEO 4DG7 4DG74 < ?>4>?NG5=O > 

?D<5>D4<, =5 =46<<4=F5 >=>?>G TEST.
" �5 >F>DO64=F5 >DOL>G >FE5>4 M?5<5=F>6 ?<F4=<O 6> 6D5<O 

F5EF<D>64=<O.
" �5 >4E4=F5EL <E?OFG5<>7> ?D>6>44 ?D< ?D>65D>5 <7>?OF<<.
" �5 ?D<>4E4=F5EL > F>>>=5EGM<< G4EFO< E =4?DO65=<5< >30 � 
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?5D5<5==>7> F>>4 (ED54=5>644D4F<G=>5 7=4G5=<5), 42 � ?<>>6>7> 
=4?DO65=<O ?5D5<5==>7> F>>4 <?< 60 � ?>EF>O==>7> F>>4.

" �E?< ?D>6>4OFEO <7<5D5=<O 5>?LL<E 65?<G<= E>?D>F<6?5=<O, 
F> <<5NM<5EO 6 <E?OFG5<>= F5?< >>=45=E4F>DO 4>?6=O 5OFL 
D47DO65=O.

 " �5 74<5=O=F5 4>>G<G?OF>D=GN 54F4D5N ?D< =4?<G<< 6?47< =4 
>>D?GE5 ?D<5>D4.

" �D5645 G5< >F>DO64FL >DOL>G 4>>G<G?OF>D=>7> >FE5>4 54F4D5<, 
G554<F5EL, GF> ?D<5>D 6O>?NG5=.

" �5D54 =4G4?>< ?D>6545=<O <7<5D5=<=, F5EF<DG5<4O F5?L 
4>?6=4 5OFL ?>?=>EFLN D47DO65=4 < <7>?<D>64=4 >F <EF>G=<>4 
?<F4=<O.

" �E?< =5>5E>4<<4 74<5=4 MG?4 <?< 5?>>4 ?<F4=<O, 74<5=<F5 <E =4 <E-
?D46=O5 >><?>=5=FO F>= 65 <>45?< < M?5>FD<G5E><E E4D4>F5D<EF<>.

" �5 D45>F4=F5 E ?D<5>D><, 5E?< 4>F<65= <=4<>4F>D D47DO4>< M?5-
<5=F>6 ?<F4=<O. �E?< 6O =5 ??4=<DG5F5 <E?>?L7>64FL ?D<5>D 6 
F5G5=<5 4>?7>7> 6D5<5=<, <76?5><F5 M?5<5=FO ?<F4=<O < ED4=<F5 
<E E>>F65FEF6GNM<< >5D47><.

" �5 ED4=<F5 < =5 <E?>?L7G=F5 ?D<5>D 6 GE?>6<OE ?>6OL5==>= 
F5<?5D4FGDO, ?>6OL5==>= 6?46=>EF<, 4 F4>65 6 ?D<EGFEF6<< 
67DO6>>?4E=OE <?< ?57>>6>E??4<5=O5<OE 747>6 <?< E<?L=>7> 
M?5>FD><47=<F=>7> ?>?O.

" �4?D5M45FEO <E?>?L7>64FL 45D47<6O, ><E?>FG <?< D4EF6>D<F5?< 
4?O >G<EF>< ?D<5>D4.

2. �><??5>F ?>EF46><

�><??5>F=>EFL ED54EF64 <7<5D5=<=:

�4<<5=>64=<5 �>?<G5EF6>

�574><<5FD RGK RT-25 1 LF.

�455?L <7<5D<F5?L=O= E ?D>5=<>4<< 2 LF.

'5E>? 1 LF.

�46<<O F<?4 «>D>>>4<?» 2 LF.

$5<5=L 4?O ?5D5=>E>< 1 LF.

�4F4D5< ?<F4=<O 6 LF.

$G>>6>4EF6> ?> M>E??G4F4F<< 1 M>7.
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� E?GG45, 5E?< 6O >5=4DG6<F5 >FEGFEF6<5 <?< ?>6D5645=<5 >4-
>>=-?<5> ?D<=44?56=>EF<, E6O6<F5EL E ?D>446F><.

3. �47=4G5=<5 ?D<5>D4

�574><<5FD RGK RT-25 ?D54=47=4G5= 4?O 74<5D4 E>?D>F<6?5=<O 
<7>?OF<<, <7<5D5=<O =<7><E 7=4G5=<= E>?D>F<6?5=<O, =4?DO65=<O 

-
>==OE <4F5D<4?>6 =4 L<D>>>< 4<4?47>=5 M?5>FD>>5>DG4>64=<O, >4> 
F>: FD4=ED>D<4F>DO, M?5>FD<G5E><5 <4L<=O, >455?<, 6O>?NG4F5?<, 
M?5>FD>?D<5>DO; O6?O5FEO <454?L=O< <=EFDG<5=F>< 4?O F5E>5E?G-
6<64=<O, F5EF<D>64=<O < 4<47=>EF<>< M?5>FD>>5>DG4>64=<O.

4. �E>55==>EF< < ?D5<<GM5EF64

�574><<5FD RGK RT-25 ?D54>EF46?O5F ?>?L7>64F5?N 6OE>>GN EF5-
?5=L F>G=>EF<, GEF>=G<6O5 E4D4>F5D<EF<><, ?U7>>EFL 6 >5D4M5=<< < 
=44U6=>EFL.
" �7<5D5=<5 <=45>E4 ?>?OD<74F<< (PI);
" �7<5D5=<5 >>MDD<F<5=F4 45E>D5F<< (DAR);
" '4>5=4O >><?4>F=4O >>=EFDG>F<O;
" $G=>F<O ?>4E65F>< M>D4=4.

5. �564G=4D>4=O5 M?5>FD<G5E><5 E<<6>?O

�OE>>>5 =4?DO65=<5 < D<E> G44D4 M?5>FD>F>>><!

�D<<5=O5FEO 46>==4O <7>?OF<O

�5D5<5==O= F>>

�475<?5=<5
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6. 'EFD>=EF6> ?D<5>D4

$<E.1 �5D54=OO ?4=5?L ?D<5>D4

1) EARTH («=>?L») - 7=574> MG?4 ?D< 74<5D5 E>?D>F<6?5=<O 
 <7>?OF<<

2) G. («7475<?5=<5») - 7=574> MG?4 4?O <7<5D5=<O =4?DO65=<O, 
>FD<F4- F5?L=4O ?>?OD=>EFL

3) V: («=4?DO65=<5») - 7=574> MG?4 4?O <7<5D5=<O =4?DO65=<O, 
?>?>6<- F5?L=4O ?>?OD=>EFL

4) LINE: («>455?L)» - 7=574> >455?O <E?OF4F5?L=>7> =4?DO65=<O  
4?O <7<5D5=<O E>?D>F<6?5=<O <7>?OF<<

5) �<E??5=
6) �=>?>4 ZERO/
7) �=>?>4 ?5D5>?NG5=<O D56<<4 PI/DAR
8) �=>?>4 TEST
9) �>6>D>F=O= ?5D5>?NG4F5?L
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7. �<E??5= < >=>?>< G?D46?5=<O

$<E.2 �<E??5= ?D<5>D4

�=>?>4 PI/DAR. �E?>?L7G5FEO ?D< 74<5D5 <=45>E4 ?>?OD<74F<< 
(PI) < >>MDD<F<5=F4 45E>D5F<< (DAR).

�=>?>4 ZERO/  («=>?L/?>4E65F>4»). �E?>?L7G5FEO 4?O 6>?NG5-
=<O/ 6O>?NG5=<O ?>4E65F><, ?<5> E5D4EO645F ?>>474=<O 4<E??5O 6 0 
?D< 74<5D4E =<7>>7> E>?D>F<6?5=<O.

�=>?>4 TEST. �>?NG45F/6O>?NG45F ?D>F5EE <7<5D5=<O E>?D>F<6-
?5=<O <7>?OF<< < =<7>>7> E>?D>F<6?5=<O.

�>6>D>F=O= ?5D5>?NG4F5?L. � D56<<5 ACV ?>76>?O5F <7<5-
DOFL =4?DO65=<5 ?5D5<5==>7> F>>4 (AC).

�>6>D>F ?5D5>?NG4F5?O 6 ?>?>65=<5 «Continuity» ?>76>?O5F 74-
<5D<FL =<7>>5 E>?D>F<6?5=<5.

'EF4=>6>4 ?>6>D>F=>7> ?5D5>?NG4F5?O 6 ?>?>65=<5 500, 1000, 
<?< 2500 � ?>76>?O5F 6O5D4FL <E?OF4F5?L=>5 =4?DO65=<5 4?O 74<5-
D4 E>?D>F<6?5=<O <7>?OF<<
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8. $45>F4 E ?D<5>D><

8.1 �7<5D5=<5 =4?DO65=<O ?5D5<5==>7> F>>4

1) 'EF4=>6<F5 ?>6>D>F=O= ?5D5>?NG4F5?L 6 ?>?>65=<5 ACV
2) �EF46LF5 >D4E=O= ?D>6>4 <7<5D<F5?L=>7> MG?4 6 7=574> «V», 

G5D=O= ?D>6>4 6 7=574> «G»

$<E. 3 �7<5D5=<5 =4?DO65=<O ?5D5<5==>7> F>>4

 
" �7<5DO5<>5 7=4G5=<5 =4?DO65=<O =5 4>?6=> 5OFL 6OL5 ED54-

=5>644D4F<G=>= 65?<G<=O 750 �. �>?55 6OE>>>5 =4?DO65=<5 <>-
65F 5OFL ?>>474=> =4 4<E??55, => >=> <>65F ?>6D54<FL ?D<5>D.

" �> >>>=G4=<< <7<5D5=<= >FE>54<=<F5 F5EF>6O5 ?D>6>44 >F ?D>-
65DO5<>= F5?< < 6O=LF5 <7<5D<F5?L=O5 MG?O <7 7=574 ?D<5>D4

" �>64?G=EF4, ?D< 74<5D4E 6OE>>>7> =4?DO65=<O E>5?N44=F5 >D4=-
=NN >EF>D>6=>EFL 6> <75564=<5 G44D4 M?5>FD<G5E><< F>>><.

" �5 ?D>6>4<F5 <7<5D5=<=, 5E?< >F>DOF4 >DOL>4 54F4D5==>7> 
>FE5>4.

8.2 �7<5D5=<5 =<7>>7> E>?D>F<6?5=<O

1) �5D54 <7<5D5=<5< E>?D>F<6?5=<O <7>?OF<< F5EF<DG5<4O F5?L 
4>?6=4 5OFL ?>?=>EFLN D47DO65=4 < =44U6=> <7>?<D>64=4 >F 
<EF>G=<>4 =4?DO65=<O
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2) 'EF4=>6<F5 >D4E=O= F5EF>6O= ?D>6>4 6 7=574> EARTH, 4 GUD=O= 
?D>6>4 - 6 7=574> G

3) �>4E>54<=<F5 746<<O «>D>>>4<?» >D4E=>7> < G5D=>7> F5EF>6OE 
?D>6>4>6 > <E?OFG5<>= F5?<
 
�>744 ?D<5>D ?>4>?NG5= > F5EF<DG5<>= F5?< >?<E4==O< 6OL5 

E?>E>5><, ?>65D=<F5 ?5D5>?NG4F5?L D56<<>6 =4 «CONTINUITY», 74-
F5< =46<<F5 >=>?>G «TEST», ?>E?5 G57> 5G45F ?D>6545=> <7<5D5=<5 
E>?D>F<6?5=<O.

$<E. 4 �7<5D5=<5 =<7>>7> E>?D>F<6?5=<O   

 �G4LF5 6=<<4F5?L=O ?D< ?>4E>54<=5=<< ?D>6>4>6!

8.3 �7<5D5=<5 E>?D>F<6?5=<O <7>?OF<<

1) �>65D=<F5 DGG>G E5?5>F>D4 4?O 6O5>D4 D45>G57> =4?DO65=<O 
500/1000/2500 �

2) �5D54 <7<5D5=<5< E>?D>F<6?5=<O <7>?OF<< F5EF<DG5<4O F5?L 
4>?6=4 5OFL ?>?=>EFLN D47DO65=4 < =44U6=> <7>?<D>64=4 >F 
<EF>G=<>4 =4?DO65=<O

3) �EF46LF5 >D4E=O= ?D>6>4 6> 6E>4=>= D47N5< «LINE», 4 GUD=O= 
?D>6>4 - 6> 6E>4=>= D47NU< «EARTH»
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4) �>4E>54<=<F5 746<<O «>D>>>4<?» >D4E=>7> < G5D=>7> F5EF>6OE 
?D>6>4>6 > <E?OFG5<>= F5?<, GG<FO64O, GF> ?>?>6<F5?L=>5 
6OE>4=>5 =4?DO65=<5 ?>445FEO >F D47NU<4 «LINE»
 

 

$<E. 5 �7<5D5=<5 E>?D>F<6?5=<O <7>?OF<<

 
" �D5645 G5< =4G4FL <7<5D5=<O, G554<F5EL, GF> 6 <E?OFG5<>= 

F5?< >FEGFEF6G5F =4?DO65=<5. �5 ?D>6>4<F5 <7<5D5=<O <7>?O-
F<< 6 ?D<EGFEF6<< =4?DO65=<O =4 ?D>65DO5<>< >5N5>F5.

" �5 ?D>6>4<F5 <7<5D5=<=, >>744 >F>DOF4 >DOL>4 M?5<5=F4 ?<F4=<O.
" �5 4>?GE>4=F5 >>D>F>>7> 74<O>4=<O F5EF>6OE MG?>6 6 D56<<5 

6OE>>>7> =4?DO65=<O =4 6OE>45, <?< 6O?>?=5=<O F5EF>6 <7>?O-
F<< ?>E?5 F>7>, >4> =4 6OE>4 5O?> ?>44=> 6OE>>>5 =4?DO65=<5.

$56<< ?>EF>O==>7> 74<5D4

�E?< ?>6>D>F=O= ?5D5>?NG4F5?L G65 GEF4=>6?5= 6 >4=> <7 ?>?>-
65=<= D45>G57> =4?DO65=<O 500/1000/2500 �, F> ?> =464F<N >=>?>< 
«TEST» ?D<5>D 46F><4F<G5E>< 5G45F ?5D5654U= 6 D56<< ?>EF>O==>-
7> 74<5D4. �D< MF>< 5G45F E>74464FLEO 6OE>4=>5 D45>G55 =4?DO65-
=<5, < >=>?>4 «TEST» 5G45F ?>4E65G5=4. �> 7465DL5=<< <7<5D5=<=, 
=46<<F5 >=>?>G 5MU D47 4?O 6OE>44 <7 D56<<4 ?>EF>O==>7> 74<5D4.
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" �5D54 <7<5D5=<5< E>?D>F<6?5=<O <7>?OF<< F5EF<DG5<4O F5?L 

4>?6=4 5OFL ?>?=>EFLN D47DO65=4 < =44U6=> <7>?<D>64=4 >F 
<EF>G=<>4 =4?DO65=<O.

" �> >>>=G4=<< F5EF4 =5 >4E4=F5EL F5EF<DG5<>7> >5N5>F4. �<>>EFL 
6 F5?< E?>E>5=4 E>ED4=OFL M?5>FD<G5E><= 74DO4, >>F>DO= <>65F 
6O764FL G44D M?5>FD<G5E>>7> F>>4.

" �5 ?D>6>4<F5 <7<5D5=<=, 5E?< >F>DOF4 >DOL>4 M?5<5=F4 ?<F4-
=<O.
 
�7<5D5=<5 <=45>E4 ?>?OD<74F<< PI

� D56<<5 <7<5D5=<O E>?D>F<6?5=<O <7>?OF<< =46<<F5 >4<= D47 
>=>?>G «PI/DAR» 4?O 6O5>D4 ?4D4<5FD4 PI (Polarization Index), ?D< 
MF>< =4 4<E??55 ?>O6<FEO =44?<EL Time1 (1 min) / Time2 (10 min), ?>-
E?5 G57> =46<<F5 >=>?>G «TEST» 4?O =4G4?4 <7<5D5=<= PI.

�7<5D5=<5 >>MDD<F<5=F4 45E>D5F<< DAR

�4E>4OEL 6 D56<<5 <7<5D5=<O E>?D>F<6?5=<O <7>?OF<<, =46<<-
F5 >=>?>G «PI/DAR» 2 D474 4?O 6O5>D4 ?4D4<5FD4 DAR, =4 4<E??55 
?>O6<FEO =44?<EL Time1 (30 s)/Time2 (1 min), 74F5< - =46<<F5 >=>?-
>G «TEST» 4?O =4G4?4 <7<5D5=<= DAR(). �46<<F5 >=>?>G FD< D474 
4?O 6O5>D4 E?54GNM57> 74<5D4 DAR, =4 4<E??55 ?>O6<FEO =44?<EL 
Time1(15s)/Time2 (1 min), ?>E?5 G57> =46<<F5 >=>?>G TEST 4?O =4G4?4 
E?54GNM57> <7<5D5=<O DAR.

9. �4<5=4 54F4D5=

-?5<5=FO ?<F4=<O ?>4?564F 74<5=5, >>744 =4 LCD 4<E??55 ?>O6-
?O5FEO ?<>F>7D4<<4 =<7>>7> 74DO44 54F4D5=. �?O 74<5=O 6O?>?=<F5 
E?54GNM<5 45=EF6<O:
1. �O>?NG<F5 ?<F4=<5, GEF4=>6<6 ?>6>D>F=O= ?5D5>?NG4F5?L 6 

2. �F>DGF<F5 6<=F =4 >DOL>5 >FE5>4 M?5<5=F>6 ?<F4=<O, E=<<<F5 
>DOL>G < 74<5=<F5 6E5 6 54F4D55>, E>5?N44O ?>?OD=>EFL GEF4-
=>6><

3. 'EF4=>6<F5 >DOL>G, =4456=> 7465D=<F5 6<=F 55 >D5??5=<O
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$<E. 6. 'EF4=>6>4 < 74<5=4 54F4D55>

   
" �> <75564=<5 6>7<>6=>7> G44D4 M?5>FD>F>>>< >FE>54<=<F5 

?D>6>44 ?D< 74<5=5 M?5<5=F>6 ?<F4=<O.
" �5 4>?GE>45FEO >4=>6D5<5==4O GEF4=>6>4 =>6OE < EF4DOE (G4-

EF<G=> <?< ?>?=>EFLN D47DO65==OE) 54F4D5=.
" �5 ?D>6>4<F5 <7<5D5=<=, 5E?< >F>DOF4 >DOL>4 >FE5>4 M?5<5=-

F>6 ?<F4=<O.

10. &5E=<G5E><5 E4D4>F5D<EF<>< 

�4D4<5FDO <7<5D5=<O E>?D>F<6?5=<O <7>?OF<<

�><<=4?L=>5 
7=4G5=<5 <E-
?OF4F5?L=>7> 
=4?DO65=<O, 
U, � 1)

�<4?47>= <7<5-
D5=<= E>?D>F<6-
?5=<O <7>?OF<<

$47D5L5=<5 
(54<=<F4 

<?44L57> D47-
DO44 (5.<.D.))

�D545?O 4>?GE>4-
5<>= >E=>6=>= 

45E>?NF=>= 
?>7D5L=>EF< 

<7<5D5=<=, ��<, 
��<

500
>F 0,01 4> 99,9 ��< 0,01/0,1 ��< ±(0,03;R+5 5.<.D.)

>F 100 ��<  
4> 5,00 ��<

1 ��</0,01 
��<

±(0,05;R+5 5.<.D.)

1000

>F 0,01  
4> 99,9 ��<

0,01/0,1 ��< ±(0,03;R+5 5.<.D.)

>F 100 ��<  
4> 5,00 ��<

1 ��</0,01 
��<

±(0,05;R+5 5.<.D.)
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2500

>F 0,01  
4> 99,9 ��<

0,01/0,1 ��< ±(0,03;R+5 5.<.D.)

>F 100 ��< 

4> 10,0 ��<

1 ��</0,01/ 
0,1 ��<

±(0,05;R+5 5.<.D.)

E6. 10,0 4> 20,0 
��<

0,1 ��< ±(0,1;R+5 5.<.D.)

�D<<5G4=<O:
1) 3 4<4?47>= GEF4=>6>< <E?OF4F5?L=>7> =4?DO65=<O >F U 4> 1,1;U, �;
R 3 <7<5D5==>5 7=4G5=<5 E>?D>F<6?5=<O <7>?OF<<, ��<, ��<

�4D4<5FDO <7<5D5=<O M?5>FD<G5E>>7> E>?D>F<6?5=<O ?>-

EF>O==><G F>>G

�<4?47>= <7-
<5D5=<=, �<

$47D5L5=<5 (54<=<F4 
<?44L57> D47DO44 

(5.<.D.)), �<

�D545?O 4>?GE>45<>= >E-
=>6=>= 45E>?NF=>= ?>7D5L-

=>EF< <7<5D5=<=, �<

>F 0,01 4> 200 0,01/0,1/1 ±(0,02;R+3 5.<.D.)

�D<<5G4=<5 3 R - <7<5D5==>5 7=4G5=<5 M?5>FD<G5E>>7> E>?D>F<6?5=<O 
?>EF>O==><G F>>G, �<

�4D4<5FDO <7<5D5=<O =4?DO65=<O ?5D5<5==>7> F>>4

�<4?47>= 
<7<5D5-
=<=, �

'4EF>F4, 
�F

$47D5L5=<5 (54<-
=<F4 <?44L57> 

D47DO44 (5.<.D.)), �

�D545?O 4>?GE>45<>= 
>E=>6=>= 45E>?NF=>= ?>-
7D5L=>EF< <7<5D5=<=, �

>F 30 4> 750 50/60 1 ±(0,02;U+3 5.<.D.)

�D<<5G4=<5 3 U - <7<5D5==>5 7=4G5=<5 =4?DO65=<O ?5D5<5==>7> F>>4, �

&5<?5D4FGD=O= >>MDD<F<5=F

�>4<D<>4F<O &5<?5D4FGD=O= >>MDD<F<5=F/°%

RGK RT-25 0,1
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�5M<5 F5E=<G5E><5 E4D4>F5D<EF<><

�4<<5=>64=<5 E4D4>F5D<EF<>< �=4G5=<5

$47DO4=>EFL 4<E??5O 2000

�=4<>4F<O ?5D57DG7><
>22.0G' ?D< <7<5D5=<< 

E>?D>F<6?5=<O <7>?OF<<

�>D<4?L=O5 GE?>6<O <7<5D5=<=:

- F5<?5D4FGD4 >>DG64NM57> 6>74GE4, °%

- >F=>E<F5?L=4O 6?46=>EFL 6>74GE4, %

>F +18 4> +28

>F 45 4> 75

$45>G<5 GE?>6<O <7<5D5=<=:

- F5<?5D4FGD4 >>DG64NM57> 6>74GE4, °%

- >F=>E<F5?L=4O 6?46=>EFL 6>74GE4, %

>F 0 4> +40

85

&5<?5D4FGD4 ED4=5=<O, °% 
�?46=>EFL ED4=5=<O, %

>F -20 4> +60

4> 90                    

%F5?5=L 747DO7=5=<O 2

$45>G4O 6OE>F4 =44 GD>6=5< <>DO, < 4> 2000

�?4EE 74M<FO >F ?5D5=4?DO65=<O CAT III 600 �

�EF>G=<>  ?<F4=<O 6 54F4D5= ��, 1,5 �

�4D4<5FDO M?5>FD<G5E>>7> ?<F4=<O:

- =4?DO65=<5 ?>EF>O==>7> F>>4, � 9

�454D<F=O5 D47<5DO, <<,

(4?<=4×L<D<=4×6OE>F4)
160×100×70

�4EE4, >7, =5 5>?55 0,46
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11. �4D4=F<==O5 >5O74F5?LEF64

" 74D4=F<==O= ED>> E>EF46?O5F 12 <5EOF56;
" =5<E?D46=>EF< ?D<5>D4, 6>7=<>L<5 6 ?D>F5EE5 M>E??G4F4F<< 6 

F5G5=<5 6E57> 74D4=F<==>7> ED>>4, 5G4GF GEFD4=5=O E5D6<E=O< 
F5=FD>< >><?4=<< RGK;

" 74>?NG5=<5 > 74D4=F<==>< D5<>=F5 <>65F 5OFL E45?4=> F>?L>> 
?>E?5 4<47=>EF<>< ?D<5>D4 6 E5D6<E=>< F5=FD5 >><?4=<< RGK.

�4D4=F<O =5 D4E?D>EFD4=O5FEO:

" =4 54F4D5<, <4GM<5 6 >><??5>F5 E ?D<5>D><;
" =4 ?D<5>DO E <5E4=<G5E><<< ?>6D5645=<O<<, 6O764==O<< 

=5?D46<?L=>= M>E??G4F4F<5= <?< ?D<<5=5=<5< =5>4G5EF65==OE 
>><?>=5=F>6 FD5FL<E D<D<;

" =4 ?D<5>DO E ?>6D5645=<O<< >><?>=5=F>6 <?< G7?>6 6E?54-
EF6<5 ?>?444=<O =4 =<E 7DO7<, ?5E>4, 6<4>>EF5= < F.4.;

" =4 G4EF<, ?>465D65==O5 5EF5EF65==><G <7=>EG.

�E5 E?>DO, 6>7=<>4NM<5 6 ?D>F5EE5 <E?>?=5=<O 74D4=F<==OE 
>5O74F5?LEF6, D47D5L4NFEO 6 E>>F65FEF6<< E 45=EF6GNM<< 74>>=>44-
F5?LEF6>< $$.
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